Efficiency vs P,

~ 0.8

o
~
T

ermciency vs p
TTTT

O SRR S — R —
| SRS — — —
R SRS S — A

] SO N SO S S

Ratio

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFit_100stable
—— DQM_V0001_R000000001__Global__mkFit_CAND100stable

= 0.5p T T
9 E E :
>\0.45:—------—-------? -------- R A
I E : :
Cl_) 0.4:_"""""""'; """" :' """"""""""""
o o : :
£ 0.35F ek R SRR EEEE EECEEEE
o E : :
0.3+ preermerieeneees P
0.25;—---- -------- -----------------
0‘2;—----«-5- -----§ -------- lr -----------------
048 A o
08 0001 SR OO SN
0.05;—---- T "é- --------- 5
o L_bof....l....|....!....|....|....
T r :
o L :
1_— ---------- - -04»5-- 22 oF EEEEEE -+ 20 -0
3 -2 -1 0 1 2 3

Efficiency vs ¢

s 0.2
4

2018
2

90.16
(S}

£0.14
(]

0.12F-
01| iy i
008 |- e b | 1 f
TSI S 1 S 1 M 1 :
0.0455: ------- ------- - 4» “ -
R SRR SR U 0 0 1 O

PR RARERRS)

1.0 *

Ratio

0.955



	Contents
	Page 1


